275 Industrial Road,

. ® Cambridge, Ontario N3H 4R7

ame L Q Tel. 519-884-8555

)74 Toll Free 800-331-7952
Fax 519-650-3334

panelite.com « dietersaccessories.com

Our Reputation Is Stainless! IATF16949 & 1SO14001 REGISTERED SYSTEMS

BUG DEFLECTOR
CAT CT660

INSTALLATION INSTRUCTIONS:
1. Peel back plastic from the bottom edge of the Bug Shield approximately 1/2” and from around all bolt holes.
2. Install supplied trim guard along bottom edge of Bug Shield, for safety reasons, it is also suggested to install around cut

out for the hood grab handle.

3. Attach the two inner and two outer brackets to the backside of the Bug Shield using six, 10-32 bolts, washers and lock

nuts. Do not tighten, allow for adjustment.

OUTERE ERACKET INMEE BRACKET
[ 1 holes1 slot /7 2 hales/2 slots

Emoller dlometer

riylon spacers
between Bug Deflector
and hood,

(6 10-32 hordware

large dameter
nylon spocers.,
between brackets

o oo 2y 1% long bolts

4 17 long bolts

4, Place the Bugshield on hood, centering the two inner brackets on either side of the grab hold recess and ensure all
brackets are sitting firmly against hood with formed ends matching the body line of the hood (SIDE) and the black edging

sitting in the seam just behind the front grille bezel.

5. It is suggested to have someone hold the Bug Shield in place while transferring the hole locations from the brackets to
the hood.

6. Remove Bug Shield and carefully drill the marked holes into the hood using a 9/32” drill bit. Also suggested to use a
smaller drill bit First for a pilot hole before using the 9/32" drill bit

7. Place the Bug Shield back onto the hood and loosely install provided " hardware as shown. The (2) 1%" long bolts go on
either side of the grab handle recess. The Nylon washers go between the hood and the bracket and the large fender
washers on the inside of the hood. Ensure the ends of the Bug Shield are still in the desired spot with the hood/body line,
tighten the Bug Shield brackets.

8. The Bug Shield ends may require some pressure applied to them, to conform to the desired location. Hold the end in its
desired spot while drilling a 1/8” hole into the hood and secure in place with 4, #10 self-tapping screws and small

diameter nylon spacers under the Bug Shield.

9. Peel remaining plastic from Bug Shield. If needed, clean with glass cleaner and a soft cloth.

Page 1 0f 3 00812920 07/2012



275 Industrial Road,

. ® Cambridge, Ontario N3H 4R7

ame L Q Tel. 519-884-8555

)74 Toll Free 800-331-7952
Fax 519-650-3334

panelite.com « dietersaccessories.com

Our Reputation Is Stainless! IATF16949 & 1SO14001 REGISTERED SYSTEMS

PARE-INSECTES

CAT CT660
INSTRUCTIONS D'INSTALLATION:
1. Décollez la pellicule plastique du bord inférieur du pare-insectes sur environ 1/2" et autour de tous les trous de boulons.
2. Posez la moulure protectrice fournie au bord inférieur du pare-insectes. Pour des raisons de sécurité, il est aussi suggéré

d'en poser autour de la découpe pour la poignée du capot.

3. Fixez les deux supports intérieurs et extérieurs a l'arriere du pare-insectes a ['aide des six boulons 10-32, rondelles et

contre-écrous. Ne pas serrer, pour permettre d'ajuster.

SUPPORT EXTERIEUR — SUPPORT INTERIEUR

g A trou/1 fente ’; 2 trous/2 fentes
£ /
Entretoises de nylon de //'/ﬂ{ /" H"E
petit diamétre entre —,  / /
pare-insectes et capot ™\ \
\

s Quincaillerie 10-32 (6) --’f
Entretoises de nylon deJ( L 3
grand diamétre entre 2Boulons 11/4"long —
supports et capot 4 Boulons 1" long —*
4, Placez le pare-insectes sur le capot, centrant les deux supports intérieurs de chaque c6té du trou de poignée de capot et

de assurez-vous que tous les supports reposent fermement contre le capot avec les extrémités moulées épousant la forme

de la ligne du capot (coté) et la bordure noire longeant le joint juste derriere la calandre avant.

5. Il est suggéré d'avoir quelqu'un pour tenir le pare-insectes en place lors du transfert de I'emplacement des trous des

supports au capot.

6. Déposez le pare-insectes et percez soigneusement les trous marqués dans le capot a ['aide d'une méche de 9/32". Il est
également suggéré d'utiliser une méche plus petite pour percer d’abord un trou pilote avant d'utiliser la méche de 9/32".

7. Placez le pare-insectes sur le capot et installez sans serrer avec la quincaillerie %", tel qu'illustré. Les (2) boulons longs de
1" vont de chaque coté du trou de la poignée du capot. Les rondelles en nylon s'installent entre le capot et le support et
les grandes rondelles vont a l'intérieur du capot. Assurez-vous que les extrémités du pare-insectes sont encore a ['endroit

désiré, en ligne avec le capot/carrosserie, serrez les supports du pare-insectes.

8. Le pare-insectes peut exiger qu'une certaine pression soit exercée, afin de ['ajuster a l'emplacement souhaité. Maintenez
['extrémité en position désirée tout en percant un trou de 1/8" dans le capot et fixez en place a ['aide de 4 vis

autotaraudeuses # 10 et de petites entretoises en nylon sous le pare-insectes.

9. Décollez la pellicule plastique restante du pare-insectes. Si nécessaire, nettoyez avec un nettoyant a vitres et un chiffon
doux.
Page 2 of 3 00812920 07/2012



275 Industrial Road,

. ® Cambridge, Ontario N3H 4R7

ame L Q Tel. 519-884-8555

)74 Toll Free 800-331-7952
Fax 519-650-3334

panelite.com « dietersaccessories.com

Our Reputation Is Stainless! IATF16949 & 1SO14001 REGISTERED SYSTEMS

DEFLECTOR DE INSECTOS

CAT CT660
INSTRUCCIONES DE INSTALACION:
1. Quite el plastico del borde inferior del protector contra insectos aproximadamente de %" y alrededor de todos los
aqujeros de tornillos.
2. Instale la moldura protectora provista en el borde inferior del protector contra insectos, por razones de sequridad, se

sugiere instalar alrededor del corte para la manija del capo.

3. Coloque los soportes, dos internos y dos externos, a la espalda del protector, usando seis tornillos de 10-32, arandelasy
tuercas. No apriete, permita poder hacer ajustes.
F ~soporte externo . soporte interior
Espaciadores de nailon de T f,f’ /
pequefio didmetro entre Fa ‘-.\ / /
la deflectory la capota N / /
\{\ \\ @ Mj Py |
espaciadores de nailon de ,/ Ferreteria 10-32 /
didmetro pequefio entre J/ 2 pernos 1 V4"
los soportes y la cubierta 4 pernos 1"
4, Coloque el protector en el capo, centrando los dos soportes internos en cada lado del espacio para el agarrador, y

aseglrese que todos los soportes estan firmes contra el capo con los extremos formados iguales a la linea del cuerpo del

capo (lado) y el extreme negro sentada en la costura justo detrds de la brida frontal de la parrilla.

5. Se sugiere que alguien mds sostenga el protector contra insectos en su lugar mientras se transfiere la localizacion de los

aqujeros de los soportes al capd.

6. Quite el protector y cuidadosamente perfore los agujeros marcados en el capd usando una broca de 9/32”. También se
sugiere una broca mas pequena como piloto antes de la de 9/32".

7. Coloque el protector de nuevo en el capo y coloque de forma floja usando los accesorios de %" provistos como se muestra.
Los dos tornillos de 1 %" van en cada lado de espacio para jalador. Las arandelas de nylon van entre el capd y el soporte, y
las arandelas grandes de defensa en el lado dentro del capd. Asegurese que los extremos del protector estan atin en el

lugar deseado con la linea del capd/cuerpo., apriete los soportes.

8. Los extremos del protector pueden requerir alguna presion aplicada a ellos, para tomar forma de la localizacion deseada.
Sostenga el extremo en su lugar deseado mientras perfora un agujero de 1/8” en el capo y lo asequra en su lugar con 4
tornillos autorroscantes #10y espaciadores pequenos de nylon bajo del protector

9. Quite el plastico remanente del protector contra insectos. Si es necesario, limpie con limpiador de vidrios y un paio
suave.
Page 3 of 3 00812920 07/2012



